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MASTER OF ARTS (ECONOMICS)
(MEC)
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June, 2024
MECE-003 : ACTUARIAL ECONOMICS :
THEORY AND PRACTICE

Time : 3 Hours Maximum Marks : 100

Note : Attempt questions from each Section as per

instructions given under each Section.

Section—A

Note : Attempt any two questions from this

Section. 2% 20=40

1. What is Gambler’s ruin problem ? How do you
determine the duration of a biased and an

unbiased walk ? Explain.

2. What is ‘fundamental principle of equivalence’
in insurance ? Discuss the classical valuation of

insurance contracts.

P.T.O.
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3. Compare the classical credibility with the
Bihlmann credibility. Which of these two

approaches 1s better for credibility analysis ?
Why ?

4. Why 1is reserving important in insurance ?
Which of the reserving techniques would you
like to use for insurance industry ? Give

reasons in support of your answer.

Section—B

Note : Attempt any five questions from this
Section. 5x12=60

5. Describe the Block-Scholes model. How do you
get the replicating strategy in Black-Scholes
model ?

6. Write a note on ‘term life insurance.’

7. Define a life table. State the meanings of
various columns of a life table.

8. What is meant by effective interest rate ? How
does it differ from nominal interest rate ?
Explain.

9. Explain the following terms :

(a) Survival function

(b) Market process

(c) Stationary increments
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10. What is Extreme Value Theory (EVT) used for ?
Explain the Generalized Extreme Value (GEV)
distribution.

11. Explain the factors instrumental in reforms in
the insurance sector in India. Give a brief
account of working of IRDA.

12. Write short notes on the following :

(a) Cumulative Distribution Function (CDF)
(b) Moment Generating Function (MGF)
(c) Capital Asset Pricing Model (CAPM)
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